— -1 —
gt 5
= 8
S
% %10‘1
1072t
1072
-3
10 1073
B[ P D P IR P ,
9 1.U0 ] ] ] : ] 9 1.U0
T i S
24 i 24
14 i 14
09232 0 1 2 3 02320 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_V0001_R000000001__Global__CMSSW_mKtt50i4_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i5_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i6_RECO
= P
= IS E::
2 = [
::? o
-1 (o]
% 10 -6/
107
1072k
JIOPS U IR IR DU DTN SUUTE B It U SUUUE IO T S T
I i i i | | T | | | | |
o N N N N N o N N ‘ H
1 : i i : : 1 i i ‘”
R 1 2 3 05310 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ Y
o
"
o
o
5

,_.
<
L

237 -2 -1 0 T 2 3
TP n (PCA to beamline)



	Contents
	Page 1


